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Appendix C

1. Teachers' Comments from the,1974-7§ Trial
' in the Oakland County Schools .
:// ]

General Commenfg‘Q

- 1. Students are much more willing to work and get involved - more indus-
triog;é especially when_ grades are not given. o

2. Because of individual teaching styles some teachers tend to skip, em-

. phasize, or feel more comfortable with certain aspects than-others.

. //Tt is 'partly whether or not .the topic is part of the standard czgiiculum.
- V% The grade in which G-T is taught is significant as to content and for
<. ./ assumptions. S . . ' ;
. B v : ‘ ¥
. ;// 3: Too much of the same thing (booklet) as we went farsher i1 the booklet,
A the:kids tended to get bored. = . . ‘é‘

4. Is the point of G-T to "teach guessing?" 1If so, then all the computa-
tion is.not necessary. If the point is to teach computation after
‘the guess is made, then we can't do it in this short a time.

: . 5.7 What is involved in the G-T process? Is it fair to provide students
LI CLn __,w?tﬁ background information for example? . L o

?;f‘;é{ 6. . How well would a class do with the cards if. they did not have the
i " - .booklet previously? : T . g

AR A Theﬂproblem’(ques;ions).ﬁn the booklet. should be numbered. Also answer
& %% ., space’ should be provided. S : - ' . :

kg

-
.

ER A ' » : L '

J e -* 8. .Cut down on each session to make total time shorter.

o g; Booklet: too lengthy o | g

.~ 10. " Would-rather use some of the booklet activities to stir interest and
.. motivation; not book in its entirety.‘ R

" 11. Perhaps it would have been better if we had started with a module such
- as the organized 1ist and kept the G-T modulé which uses many of the
. 'skills for later. - i b K S :
12. It would be helpful if we stayed in the metric system throughout the =~
booklet. - SR e

-

- 13. Kids get_tiféd of the booklet in the 3rd or 4th sesSions.f,théy worked
P . each day uhtil the booklet was finished. | LT :

.- 14, How about numbering problems to make it easier_fbr_stﬁ&ents that don’t
write in the books. (Not -everyone will always use ‘these as consumable
even if ‘they are intended to be.) . T,

15. Use headingsAthatHStand.out more to show-whenefpﬁe kind or set of prob-

. lems begins or énds. (See p. 6-7)

“ rop . . .
i s,
o -

It c-1.




<> .

| : ‘, ' ' o . ) /
16. Answers ‘are too convenient for -kids. “They don't give themse]ves enough
time to figure out prob]ems before 1ooking in the back of the book]et ,

17. Would put the fo]]owing pages in other book]ets 4, 6-14. The chihdren'
enjoyed the booklet but the above change would he]p shorten it.

probTems on page 15.- _ ..

J

.i::j> 'ti _Would add another page of prob]ems to guess and test out, e.g. Tike

fJJQ. A great dea] of assistance is neededff Students(fxpected to discuss the
o prob]ems , AN '

20. How might 4th graders.hand]e these prob]ems?]

21. Became tiring after a-whi]e: too much of the same thing.

 22. Student: ¢
, Au . 11'

23,'~Answers in back - tendency to 1ook at answers rather than so]ve prob]ems

Interesting because it Caused me to think

’ - 24, '0ften, too much background information is nedessary

 25. Everyone felt: the booklet bécame boring: too 1ong get tired of math
. on]y ‘once a week rather than three times/a week

Session I , _
26. Good for getting kids to "free up " ,”"' f o -é? -
! 27. Kids fe]t free to disagree with each other . '

-1 28. P. 4. To what degree do they "guess" as opposed to "ca]cu]ate?“A

29. Being able to make a guess and to really check out (active, hand on)
were most interesting p. 3 1,2,3, ...

-

30. p.1 #1 need units Tike stories feet, etc . #2 "foot steps", #g "in
' hours", #6 "steer" better. ’ _

‘-31. .Need more answer space and number the problems (p. 6)
32. The chi]dren ]iked page 1. ' o
53,,'p 3 # Make a guess and test with a'stopwatch,
| 34, p. 4 put this page in. another bookTet. | o
| A35,_kp, 1, 2 Good page. Give units. Let s keep it metric

36, -p. 3 "According cos guesser?" did not stand out S0 it was over]ooked
- by accident -#1-5 at bottom - had most fun with these

37.‘.Sessions 1-and 2 were‘Just fine--— not’too 1ong




38,

-'lﬁof

53.
54.

55.
 56.

57 ..

.58,
59,

p. 4 #1%_tota1-number&df'pieces' - . #8 guess or calculate???
39. Fun. p. 2-Easy ' LE 4 Hard p. 5 #2 easiest’ #4 hardest
p 1 #5 After this problem, students: anticrpated trick questions
#6 Ma ny'thought as  trick question -- cow is 11v1ng ,
M. If units were suggested on p. 1, less teacher direction would be needed
I 4 :
42. p. 2 gives actual answers, not a range.
4_;- p. 4 Kids enJoyed this!! o 0
44, p. 1 Kids really liked this. Also p. 2, 3. . ‘
-p. 4 difficult for many kids but were enthusiasti
P. 5 kids enjoyed. - Q\
Session II . . ; -
45. Organized Tist too va55£ to many kids -—‘need a un1t on it. _
46. p. 6 six/b1anks gives answer .away -- kids want to know why bother
 doing it. Use tab]eTN{ o, Pl SR
47. P. 6 could extend the number of blocks so kids could do a simi]ar prob]em”
© - ‘and possibly'find a problem. — . e
- 48. Could delete session because I .don' t see it as G-T However, it was fun
-~ . and helpful for using the cards ; :
_ 49;-}p. 10 #7 #9 are extreme]y vague
50. 50-50 some kids did not think interesting. S

P. 7 #1, #2 fairly simple - kids }1ked
p‘ 8 #3 a cha]]enge, kids 11ked

p. 6 ]ayout is difficult to understand

. P. 6 Kids figured out rumber of‘answer spaces represented the number
‘of combinations and did not-bother to do the steps.

p. 7 The so]ution caused troub]e, 1 e. » 10-0.an ansqgr?
. 1é Hhat is the 1eft hand bike supposed to took 11ke? Must one _

,bike be 5?

. 13

p. 6 Don't see as G-T. 'vj'; S i EEE
p. 6-7. 5th graders don't 11ke b]ocks B Qf | o ' “y,
p. 10 #7 Some kids thought $5 and- $75 were the on]y choices.’ :i‘;i
p 9 #5 every other" sounds 11ke some n:iij;shou}d be skipped.v'ﬁv

Harder than I thought e R -

| -~ SR
Loy tIre3 § s
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. 60. p. 7 #1 not clear as to acceptability of 10 0 and 0-10. 5_

."6]. 'p. 6 Kids fi]]ed in blanks without knowing they were making a list o
Art might help, needs more direction ‘ ) S

62. .p. 7 bottom why isn't this problem numbered 3? e g
63\\ p. 6-7 I think this is'a necessary skill and wel] “done, but -I'm not o
' ‘sure it belongs in the G-T booklet. " Iswould rather it-be left out.of

the booklet and in one on Organized Lists. I don't'realiy feel you o

are guessing . A .
i : ' . ’ ~ . ~

64. oge students missed vital information p. 10 #8 .Total increase was
50 C #9 child. weighed 7 1bs. at birth. Co ) e
Session I1T o
-65, Rbunding unnecessary for 6th graderss
66. . Needed more activity. |
S 67;',Did notwenjoy‘p 13 P 11 -12 too easy - e - ;!?,
68. Doubtful nece551ty, least fun -- too much like "math" .

“'“69,’fwou1d put in a booklet on estimating However, kids did wel] and is E *?J*'g

necessary skill. \ o Y-y
70. p. 15 good set of G-T. Keep this in. o | QQ,?@iETTL
.. ' g: K
71. . p. 11-14 good -for rounding and estimating but didn t seem to fit this

bOOk]et ' ) . o '\ 9 '\. ..

. “ IR

72. p. 13 Could have been more exciting (but don t know how)

73., Forget this session. | o - A{T ’iff‘h o
.74. p.-13 More confusing than he;pfu\ﬁb/#a do we use 10 or ]00 or either?
" How do we know? : _

e f Ty
v X P

B
5. p 14 needs more answer space This page does not give any he]p for p. 15._j

76. ,Excellent session, hut not necessary _
: 77. P13 topéw error 9x 10 = 90, not 9 x 90 .
78;.5 ]5 #5 written poor]y, can get'answers ll_or‘20.‘ h'7 ' o 5"1;
79. p. 15 #1 some sinplified: 10 and'2 - answer 4 and 6 | -
80. p. 15 too asy. | ' L f'
.Bilf;Students began to- fee], at this point, the book]et was “just math"
o+ - and much of the initia] interest and enthusiasm was 1ost _
@ T ilw el A R I W
IERJf::.» e e oo ST .




v82 Those“who knew est1mat1ng didn't need it. Those who didn‘t need more
' than one. lesson o . T

- 83. I feel estimation could best be taUght as a prerequisite to G-T.
84. .p. lB"doo traditional to maintain 1nterest

.85. p. l5 Many students enjoyed these problems’ but felt there was one
exac@ answer. Therefore, it was not guessing or a game.

Y!gf.f Many,studentf were t1red of . computation by the time they reached p. 15.
o ¥ )

SN '87._“Reallg , ¥$$$dy for 6th graders. ThlS work is done in "math" -
' : shgyd " oY ,1tude was poor, and this was tedious for them
' i ,

L—C‘
'U
)
f-q
£ A
e
.xw
N e)
.
. e
—
1
3
H'
<

: Odﬁlnot hard (whole session)
- ?

%g;gg sel 1bn 1v E “ |
f%. ‘90 3 20 test - kids tend to score high

'7}f\§é,- 9l o p l8 need F//l size or. all in proportion draw1ngs Not the way they
T R p are -- makes guesses too difficult. '

92 gpole - how was this intended to be done? Do we measure obJects in
picture, how much is to be estimated? How are -guesses tested?

t%{gfi'- 93. p..18 Some thought penc1l picture was really l8 cm.-
;éf?; - 94; Moved too fast e * o
',e; égi 95. _p. 20 Test not related to G?l booklet.
. 9. 'p."l8 give an actual cm segment picture. '*' ' TR
. 57. “p. l8? Assumes metric background. =

- 98. pa 16 good pages. & 'f | : ‘ '& B

99, .p; 18 need to make clear they are to guess about real:worldithingsf
‘not the pictures ' R ‘_‘ 3 o -

i o lob. p. 16 Kids did not know whether ‘or not they could. use a ruler to
— e : measure and calculate the relative sizes . :

‘~lpl. Many students thought the tags 1ndicated models of the actual measurement

ig f‘i-f ‘JO%; pP. 16 drawing not proportional? but page was fun

, 103, Fun but’ hard. S e e Lﬂ -
SR 104. p. 18 #3 answer not realistic ‘ | _.-" 7 | T
o 105. - p. l9 Should they estimate or work: out? -

@. . o S IIC- 5 y




3. p. 23 #5 too hard for "A"

106. p. 17 “#2 trick question?

107 p 19 #3 Make clear it is the desk referred to in question

#4 The picture door? not c]assroom doorknob . .
. v E )
108. I like Dr. Wells': 1dea about a chart that the k1ds wou]d fill out by .
- measuring the 1tems themse]ves, then an example to" show how to do the
rest of it .

Door length - w -
.1"- Chalk length - wt -
etc.

109. -Not enough info to estimate bread and pop weights.

, ; . e ) ®
_ 1]0; p. 17-19 we changed from "guess"-to "estimate!

) Session vV

111:'3p. !gzz Chi]dren liked; good prob]em for guess1ng
23 ’ ‘

112. p:_ good problems |

.4

114, p..28 Sessioh,IVip,52O TeSt'#jO missing'

115. What about “hint" cards?

1]

116. Kids started working at .the outset (genera]]y) rather than mak1ng a
.- guess and then test1ng

| 11' . Qne problem per card - good psycho]og1ca] impact on kids

18:- More cards should requ1re guess before working-—they see no advantage

to guessing before working. p

119. Need some easier cards prior to b]ue - especially for 4th grade level.
There aren't enough easy probtems. . . o L

orces e
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Appendix C
2. Teachers Comments, Tria] I, 1975-76

- Lesson 1 . :
page 1 -*tomments~to the teachers were good. Kids were very excited
o

Very easy, students expected a trick.or something
Numbers 1&2 shou]d be separated more.
MaJority of children got the idea quickly."

" Not clear that only those 4 digits should be used.

Students were ab]e‘to understand this page.

page 2 - Many gave the same answer as the examp]es but permuted the numbers
Not sure where to write their answers. |

N

Confusing format\ students thought there were 3 answers for #1.
Tags were not used

Students did not want to use tags. Very easy and got the students_
in the spirit of the booklet. ' . ' i

"You might make more guesses to get the answers“ -- Add this.
Instead of “Record your... -- Use “Do . your work here.“

No prob]em-—worked we]]
Some students re]uctant.to guess:
page 3 - Worked individually. . | |
Layout is confusing.ﬁa |
Tags were not’used Layout is confusing.
Easy, even for the s]ow students.

Th} chi]dren 1oved this page-—even the 3rd graders who did not -
Have mu]tip]ication did repeated addition

; Tl'-'_‘ Did not use tags. _ |
e o ! Some students began to 1ose interest. c;_,”h;' ‘
page 4 A 11tt1e confusing for them. p,"' .- .Y?“
_OK. o o o S

- B - III c-7" . - L ) \»f

-
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Students did not have 2 digit x' 2 digit multiplication yet
. Division with remainder new to them. )

¢ - Easy.

This page more suited for late 4th and 5th grade ‘The names
confused them.

Time began to drag. Some causht on right'aWBY--others had trouble.

page 5 - Did quite .well. Thjs.ds the Towest neth group and they're doing
great! » . .

Not sure where to mark their answers

R . Students are having fun--Just the right dlfficulty level for 5th
K ..grade | A : o

Not’ real ‘clear what her guesses are

page 6 - Very enJoyable D]d not take too long. *Students'did'not get
© bored.. . ' : PR . e

#1 needs reworded.
#1 poorly worded. - ..:' - S

Bonus question confus1ng. Students unclear what' to do but they
enJoyed doing them after they were explained. Good atfttudes!

I was surprised that some of the Slower students were ab]e to do these. -
Most students did the bonus problen . o

Do bonys problém numbers have to be 1n order? Do the lengths have
to be exact? We've been estimating. .

- Bonus problem was t1me-consum1ng but they enjoyed 1t - | v
Lesson 2 - -
page 7 - Students enJoyed this page'

No problems. Students had seen ones:like this before: Some missed both
cond1t1ons ] . ‘

4

'L_Very*easy .
"+ Some d1ff1cu1ty with the last one-—espeC1a11y in grade 3.
Worked well.
_ 'Some*Were}reluCtant~to guess .
‘page 8 - 1 - 3 easy; 4 difficutt; 5 threw them
| . fYour'answers use..." add 2 and 4

AT '“Yourvanswers‘use... -- confusing, #6 too diff1cu1t

El{fc J , I - o 4‘ TTT0-2y 10 N \:
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Cor 2 and 3 had to be done as a class--it was new material. ;Qema1nder
of the 1esson was done independently. k

"Your answer ' --confusing Students were challenged but‘had fun.
1 -3 easy, but fun.

~

-

#6 wording is d1ff1cu1t

Students were familiar with an organized 1ist and used this rather
than guessing. . .

Crowded appearance

o "Your answer..."--applies to which one? D1ff1cu1t for 1/3 of 4th
graders. A]] had troub]e w1th #6.

_‘page 9 ~ Fatigue and some became d1scouraged

o ~ Cartoons are confusing.
Good attitudes.
Most students'did these.orally. ,
A1l the drauing made it somewhat confusing.
'D1d fine on-a]1 buththe.last one--"goofy names."
H1nts were c]ear

_ page 10 < Students rea]]y enJoyed th1s page but became restless near the '
. end of’ the period. .

Cartoons are confusing.

- Many students needed help with #3.
Fun and easy. ‘ -

“Several chi]dren'in grades 3 & 4 f]oundered on this..
~Worked well. | |

page 11 - "Not only rest]ess but a few are fa111ng on the floor." Too much
) for this group. . No time for the 1ast one.

Many students found this page too d1ff1cu]t Easy'brob]ems are

needed . , ‘ : ‘

Some difficulty visualizing.the situations. Students have had
Tittle experience “with word problems. S ’ ‘ .

Th1s blew their minds' Students ‘solved only 2 of them Better .
students did them all. 1, 2; and 3 are aprropr1ate, 4 more d1ff1cu1t,
R 5 confusing. . . Y
o AN T '
S | mcg 11

A




L[I_]..S_pﬂgEACQl’J,“!;.Q,_QB,_.ﬂQ§J,!'=‘r_=4_‘,_‘. - : e : \,, A
V. " Worked well. _ S
© Reword #4. . - ~ AN

. . .. » ' . / :
‘Lesson.3 - ‘ - ‘ . K //

page.12 - Most students missed #2. _' ;///

C::f:;problems. Enjoyed 1t for the most part
Did a whole class. '

*
Easy. <

Worked Zeil.

age 13 . Students enjoyed this page. - o / R

, Some found it difficult; espec1a11y/pe/jmeter; . ., | &
Ch11dren loved this page 4
#5 had to v1sua11ze L SF)},
They Tloved these ”x' "H '//- ;j‘ B j I;‘.

Kids had fun #ith this: // ‘ SR

.

’ 3 & 4 worked well. Mostfstudents needed help w1th 5.

o # “
R

L ~ Interesting to many students

.‘

page 14 - Students enJoyed thisopage #1--students gave on]y 1 answer,

'y
Students enJoyed/ent1re page Ent1re pagg had to be read to the students.

l’

#1--students ave on}y one answer - : "n, o

Fun for a]l ab111ty levels. Chancé for slower students td}gg well.

R1 Pty

, | Proved to’be more d1ff1cu1t N T L.
Norkedfwell, but #1 needed cons1derab1§[exp1anat1on | ii@

N
#1 cpnfusing for some. -

page 15 - Confusing diagram. weren t sure what'2 & 3 were asking.

Hard to 1}1ustrate to students--easy to verbalj%e

_ Too much reading for a-simple problem.. They have done problems 11ke this -
. ,'/’ before which were more d1ff1cu1t
2 A — e
o Too much reading--only the first paragraph is necessary - It took a long
T - T ﬂmebm:ﬂmysoWedit o : e

" Had some troub]e but loved it. T,
S 12 et

o i - . g-.':-‘m c-10 . - o




1;{3ﬂ¥ ' : Confusing diagram wA boat. can 't go across a]one' - A .
N ) . [ *

T

.ﬂ ',_.ql‘..
s ~, ~Confusing for many . = - e

. page-16 - Students had difficu]ty checking the correctness of their answers. '

5153* S Students did ‘not know that #1 was a problem. #2 was difficu]t,
W - #3--"crossing, points was confu51ng " Few had time or were w1111ng
to .do. the, bonus.

i o N ‘ C
: y
Easy v

o Students are~getting restless.
Difficu]ty with‘2 and 3.
Had fun with 1t.

-

T _ “#1 vorked well; #2--word1ng not c]ear, #3--what are "crossing points"? .
- . Interest remained high. o S T

.

#3 1nteresting but had difficulty getting through.

i
"

Lesson 4
page 17 - OK, but perspective on #2 is poor

) #1--difficu1ty interpreting on the ru]er - ) .
Confused about- "top of the door." They ve had similar prob]ems befone.
. #2 confu51ng--They wanted to measure. _
Took too much time and- the perspective was- poor on the entire page..
Horked well. |

page 18 Low interest Students'wanted'to measure . each others.

Very difficult. Pictures were confusing. Diagram at the top dOes not smac
with those in the midd]e . ,

."Terrible," too much time! Could it be e]iminated? Scale different at
the top of the page and in the middle.

-

Confusing

Very confusing. It shou]d be done as a c]ass activity hav1ng the students
measure their own paces.

Most found this page confusing--too many dimensions This page should be ’
revised Especially difficult for 3rd graders.

. Vgry difficu]t as set up. Too much time required 4th grade. needs more
- T rounding off experience before doing this. :

Where is the initial point of reference?

o - -0 HIEN g3
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il

page 19 -

page 20 -

”'fRings, pens, etc ‘are not un1que

#4 and 5--change--maybe use footba]]

page 21 -

page 22 -

oy

,Centlmeter and gram together was confus1ng . Y

- Over 1/2 the classvdfsliked the entire 1ess?n'v

More 1nterest on this page They used the span for #1 because they looked -
at the p1ctures first. ‘ : v S o

"Span? was new and uncomfortab]e to use at first.
' - [V

iConfusing, unfaniliar. Individual work}better for thislpage.

Students-were very jnterested in this page.

“Span" was not-understood' #3 was eonfusing:

‘Worked well but needed much d1rect1on The interest Tevel wasvlower'thanf

previous]y

@

Some found measur.ing fun S : . 0

#2--answer given on the next page, #4 and 5--too many different ‘types. and
students were confused .

Many students wanted to do this using ru]ers L ~ S

I skipped this page because those who had tr1ed 1t sa1d it was not any good

I

Difficulty v1sua1ig1ng this.

Fine--no confusion.

" "Good.lesson."

Students measured rather than estimated--no prob]ems

1 skipped this page because those who had tr1ed it said 1t was not’ any good

Students were frustrated with the diagrams. ‘A Tlive s1tuation would be better.
A Tive situation would be better. . |

Use a real situation. | | o

Many-did’very well on this page.

Many questions.

I skipped this'page'because those who had tried it said it was not any good.

I C-12] ¢
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. page 23 -

Lesson 5

a

General Comments:

Good Ettitudes. "The students were'excfted about_getting the right
‘answers.. o ,

Exce]]ent—-good problems aﬁd good 1ength. Interest rev1ved
_Students were tired of the booklet at’this ‘point. Good att1tudes

Students were not as frustrated as with prev1ous prob]ems
.Spec1f1c Comments.
Set A

Worked well; #3 difficult, 80% able to do individually.

Set B

Had fun but did terr1b1e.
Norked we]]
Set’'C

Used a galculator and the students Toved it.

.. Found difficult but the students loved it.%& S

Only 3 students in 5th grade did this set.

/

‘Comments about the entire 1essons- , ' ' C .

Lesson 3 - A11 of this 1esson was easy! Some students finished very -
' quickly--others did not get into the swing of things and
w1thdrew completely.

LLesson 4 - This 1esson shou]d have ended with page 20
Lesson 2 - Too 1ong for th1s group!
Lesson 1 - Students were very eager to begin. 75% wanted to do all

of page 6 and go on. In general, the students were able
to do the entire lesson with some help from me and also

get the correct answers for these pages.
Leggon'z - The interest was high Over 85% enJoyed the ]esson Pefi
. _ formance.level was high. .

Lesson 2 - Too long for one session.

IIT C-13
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J ; : - SR Appendix C : . . RN
/ 3;.Teaghers' Comments, Trial II, 1975-76 . ' :
/ . Le’SS¢] ., : - ’, . /’, - ' B R o »_' . . a . | 3 ' ./
1. (b.19\; Grammatical errar in the picture...Check the word "problem's."
o I ' . . B S
2..(p.3)..- Change "Ev" to a more obvious boy's name. e _—
3. (p.4) - The order of the problems should be . :
-Eﬁ, 1st -vprobiem #3 | g ;_ v : e |
end - problem #2 - - i ] » : ' .

3rd - problem #1 | |
-~ 4. (p.1A)’~ Place "1A" on each brobﬂem in ‘order that the téaéher can tell
- - which section the cards .are from if the students are working
~individually. - | R ”

Lesson.2

1. (p.7) - Problem #3 is very difficult. A picture would be helpful. -

X ?g«@?

‘/7 2, (p.5) - Place 2 lines for the answers:as in the prerdUs problems.
S N .. . ) Lt ’ ) . . . .

"'/ Lesson 3 R . ‘.
' ' ' g ' . .« .0
/- 1. (p=10) - Use a "square"-in the example or.in{?ﬁde a note to the student
: : that a square is a rectangle. S S

‘ ’ ‘ . . . & &
/ 2. (p.11) < Problem #1 - Use common names. Also, the artwork ‘needs to be
/ improved. _ _— Ny ‘

3. (p.f2)'- Include a "hint" ... “A11 the pieces do not have to be the - ° *
- ‘same size." (This might come with the teacher's notes.) :

Lesson 4
1. (p.13) - There are not correct answers for 1.and 2. _ ' -
(b) Since the students have their math text in front of them, e
have them (1) see how many pages are in their math text, (2) i o
have the teacher show the class a larger text; and (3) have i
the students guess the number of pages. - =
. ,

2. (p.16) - "Remember” is misspelled in #2 at the top.
3. (p.16) - At the top, #3 was very difficult for the students to understand.

1 d-6k |




Lesson 5
1. ‘The coloring arrangement in th1s sect1on does. not agree with the deck:’
R S

Recommendat1on p. 18 - b]ue

p. 19 - blue

Additional Comments from In-Service

'1. The extra problems for each.section are‘a good idea

‘2. Include the page number on all "extra"™ prob]ems at the end of each sect1on |

3. More problems shou]d be included at the end of. each sect1on Perhaps one
add1t1ona1 page of "very chal]eng1ng“ problems. '

4, 'Inc]ude add1t1ona1 copies of the "extra" problems in the teachers ed1t1on
. There are now 2 pages, include at least 3.

. : . \

f“

~TIT C-16




S ' L e Appendix c J
| . 4. Module Quizzes, Trial I, .1975-76

© Narie - 2 s D@te .

A “Grade ' o L -Teacher _ .

Directions: C1rcle the letter of thg best answer. .Cirle only one ' &\\\\\\h;;
. letter, T ST .

B e D
dkg A kg S kg

R

A 9|
3 kg

‘g

e Three boxes on a sca1e weigh 16 kg.* What three?bo&gs'areﬁon;the
* O §cale’ ‘ Cwe o -

(AN , . . _
Ac . B C and D . . :“'-_ ; L . N ' ‘. M -g’_ . .
‘ =Y ® o, : - : ’ ) e,

. B £, C,anaD e Y R
o, B and ¢ | o i é% l' ST
'D;: A;;A,‘A,iénd D L 1'- " lz" t,._°'

o -b.:Bs and 0 '_. T : 5 .

;What goes ph the”tagéz -y X, + 7 A e, T

- Al ox, x ¥ -

. C. +,x ‘.
D -’-‘ -~
E. x, - ' N4 .
.

R o f\i P -

Form MPSP-E/4A - Ny




2,

. A © 3.7 Joe has 85 marb]es and 7 frlenu,
N : -, marble¥ as he can, but fe wants to
S same number

3

ienc
Lo

Al
8.

Give 5

'_lee out‘only 77 marb]es

‘s lee eath friend ]2 marb]es'and keep one hlmse]f
. PP

»Sara is" th1nPLng of two numbers

20%and 12~ S

LN

- pE o : a
. . . ot . N N .. t -

He wants to g1ve away as’ many e
be syre each fr1end gets the e

. ) , o E o l", '.j,ﬂ
then each wou]d have the same L N

- How can he db thls?

e

lee each fnﬂend 10 marb]es

number* L | b = R

- . N . A -'-'
K e s ‘.

ilee each fr1end 14 marb]bs. ,‘.u,_ Sl

fr1en@f each 15 marb]es and\tﬁo frfenasueach‘s-marbles. f'v: -
That. would be 85 marb]es . "

A a - i . . v
.

7 w111 not go 1nto 85 evenly "ﬁ,.' A;‘iv*
L . S
7 x ]2 isi R

3

very c]ose to,85

AN

~ N .
. ..( . e ) . . [
3 L -,
' ok : SR . -
. . L : - b

_4. Apples cost™15¢ and oranges cost, 20¢g. Sam spent exactly 50¢ for | _:_ 'V
apples and oranges : S

How many app]es d1d he buy ‘

3 o '
L] - ‘.
R S \ :
*
] AN 4 . ?
¥ o KA - g : ~ ? 8
. - - . . Ve e :
? ! . . N .
L ¥ e . - . # i
PR . ? woy E \ )
R ‘} . 2 - & . N
3. \ . . . o :
‘. ™~ - v -
? < @ .. . Y o
¢ R . !
5 " R PR R A 3
\ S . L L. . : . . .

e .. . PR LI o v ’
T - . . ‘ . . Lo ey A . . o
~ i : : ,2’ o " o o \,* '}' T o

. . '5' o o L S R . , v’_' ;2'...\.1
<;The1r sum is 40 and the1r dfffer- O

isg, 8 “What," pumbers is she thlnklng of? _ ) LI

24 and 1& < frv."'f"' I ff;.;'.‘ a;‘ ;i o f;,'- R

h’f’ - . o _V'_\’-”‘

K}

48 and 32* R S -’ Lo ’, -
l_- . PR " - - ..' " . R ’ . )

‘V'-'

. ; 4. ) R : : - . E : .
. ,3*0 dndx‘)o o, ' ;::.»". :“. . . o . . o . . . - l

R . . - o . S ) . I
. SR LT C /' L -

. . .., N S s,
, h . ) . ! > ‘
9 A o 20 . ' -
' . .. Y : -
s s » B . R
. b R



[}
s

Tom has5 ¢
e .of Tom's coins is ‘35¢,

ipfieces ' tha

one

fﬁ;fg%§hou1dg§he cut the board?

coins. Some areldimes and’ soie are nickels. <The.value. .~ =~ - %%

;sié.board'§ meters lén@.

. ) } .
. ' e - N . . |
e t o .
o - L "
PRI . ‘ T ’ . T ‘/
. E . . o . . 2

. v o
)

- How many dimes.does~he,hgve? U i

, N ~ ; s :
R . '
e . ‘ . -t “ T LPEE # .
B . .
- * .
» 2 .t . . . <:§ « °
’ o+ ’ A s
L. ? ;e
» v, 3 B g x,
. K .
.. - ‘.
’ - s
- - .. - - " -
S 3 ! :
. P Wt . . @
» 3 A '\r B Y - ‘_ - “‘ » ~
w ! o o » - ‘ . 3
\ ; . -
[ .« 2 1 e 5
° -~ Voo - “

?, SR

; s R :

~ Shé,wqﬁfs'tpjtptﬁthe board'idto o
piece is twice the ‘length of ‘the other. *

~
. Bad

s v - T
' i toe . F]

: Py K ' o C .
,

‘4\,","&:’3' E ) J.

if

Ve ’

A. ’Betﬁéénfbfandf1_=
B

. Right'on1 -2
IR C. Between 1'ahd:2
C o b Rightonz

: E ‘

. BetWéeh 2and 3 , ."

N-—
W T

4~ 5 meters -

A .. :
S e, Ten pennies are put into 4 piles. Each pile has a different num- -

. .. . ‘ber of pennies in it.

>+ "Form MPSP-E/4A

M ’ s
(!

) Q ¥, S .
e R - ‘. Ve a .
ERIC" « -7.- 5 pt

IToxt Provided by ERI - LI

- How many pennies are in the biggest pile?
i ' A;' »_ 3 » . - ‘ ‘.‘

) ."J
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P
I
o
LY
- r
-
_./1:{
[
1
I
€,
o
*
>

¥i
<

Eo

.

v

. o N 8
9, Do”nOt'WdFk_tnjs problem.. In the space below draw a djagram that _
~ would tell the story of the prodlem. .. . = 7T T

. John ha5“3-bandy7bé}sﬁifHé traded each candy bar for 4
' marbles. How many marbles did-John get by trading?

10.

pf The nail is 3 cmlong. Estimate the length of‘the pencil,

A5 cm

n. ‘The' height-of the flag polé is io meters. = ;;;,7.%fr :
Estimate the height of the building. o ,)[_--\\j:-ﬂ

A. 7 meters. - .
'B: 5 meters | o ‘ , _ ' e
C. 3 meters ‘ e ) N I‘I"

D. 10 meters .

2i
Form MPSP-E/4A - :
' 11T C-20

i . : ’ . -‘ J ._._...4_.____.._.._4.. ;:..-.—..
E. 13 meters - ‘ S .




12. Estimate the length of ydur arm.
CA,90 em

. 30cm

550 em

B
C. 120 cm
D
E

E. 150 cm

- ,

L)
’

/

Please write down on this page your work and te]l*bs'as much as you can
- about how you worked the problem 13. . . =~ : '

~

13. In heriﬁiggy bank Vera has 20 coins whose value is $1.40. éhe only.
' has dimes and nickels. How many. of each dces she have? '

Answer: | S _ /.
e e ] -._'__J‘.
- MPSP-E/4A o L L
R R o - III c-21 y
IfRJj; . \ .
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MName - Date \
. . } S IR , . Y o
Gradé | '// N ' o Teachg(v... o e N\ C .

{ - —  '2 “ S IR .\{

_ Directiéﬁs:j'Circ1e7ther1ettér of the best answer. “Circle on]y:ggg : \\
o letter, . } . o . \

»

7 kg,;
_Three-boxes on.a scale weigh 16 kg.t What three boxes are on the
" scale? o _ - Co
Ai A, A, A, and b
B, A, B, and C
G GC, and D
. D. .B; B, and'D
E. B,-C;Ahq D

2. 5(:f73(j:>2l: 7
| What gbes on the tags: ?, §, +?
Ao x, x |
B. +, + S L ." | L ~ o | A
C. xo - | |
D. Xy + '

E. +, x

0 T

y -

23
- MPSP-E/4p - ... IR C-23 - R

&
s




e

o WPsP-g/ap-
RIC.- =~

e

T3,

R L]
-
al . . e

"Harry only has qhartérs and dimes. Some kids made guesses about

how much.money Harry could have. Which guess does not belong?

A. Lisa guessed 55¢ L N

B._ﬂLaﬁEa.éuessed 30¢ -, B

C. Lgo guessed .20¢ S
'Jb.%.Cérrie guessed 45¢ | I o .

E ‘ ' |

. Sai#‘guessed 15¢.

Pears cost.15¢ and orangos cost 20¢. Sam spent exactly 65¢ for )
Pears and oranges. How.many pears did he buy? : :
A3 o L ' - ' - .

B. 2 % | |
C. 4

D. 0 - .
E. 1
Jane is thiﬁking of‘tWO“numberg, Thefk sum is §bfand the%r differ-
ence is 6. What numbers 1s she thinking of? - '

A, 36 and 24 | o |
B. 20andl0 . . ST Y

€. 12amd6. R - | |

D. 22and 8 | |
E. “18-and.12 - S T

'Geoége has'S coins. Some are dfméé“and'some are nickels.  The

- value of George's coins is 43¢. How many dimes does he have? -

B
E

AL 2
Lo
3
.1 )
- S - ‘
* HC-24



)

* 7. Joyce-has a board 8 meters 16tg She wants to cut it into tdd

J'.

T

--Pieces so that one piece is 2 meters ionger than the other, Where.

should she cyt the board? _
1"‘ ] Jr 1] 4 } Il | : o |
0 1 3 2 .3 4 S é- 6 7 8 meters .
A."" Between 2 and 3 o B Lt - i
. B. Between 3 and 4 - ','_.' L | S
.C. "Right on 3. - ;
D. Right on 4 |
" E. Right on & e

Form MPsp-£/48 - oI c-25

B

. Ten'pennies'are Put into 3 piles. Each pile has a different number

B3

of pennies., The smallest pile has 2 pennies in it. "How- many are
in the biggest pile? . o . 2

A, 5.

‘B 7 .
C. 4
D. 8
E. 6. 1

B — >

~

'The.bencil_is 12 cm 1ong. "Estimate thé"]ength of thé na1l.

25



3‘_~10.';The buildingxis 10 metgrs'high.7 Co R i
Estimate- the height of 'the Street -
. light. . S \'- g

. ) ' . .'-x | . - . '. . . ‘ ‘: ; s
’ B! : . L . E .

n.

 8; 100 mites - | o ‘
c .Qoo_miieé" | C ST B o \J
'.D;: 250 miTes - o | |

~ E. -Not enough -information given to tel]. o S

 Form MPSPSEjgg. o e g




T 12.',Est1mat;\zhe Tength from your elboy to your finger tips.

A. 30 cm
B. 50 cﬁ-
c. 10,
D. 90.cm

E: 120 em

-Please write down on this Page your work and as much g you can about
how you worked problem 13." ~ |

13. Kay has 90 golf balls in-boxes.",Theilarge Size box holds 10 golf
" balls. The small. size boxes hold 7 golf balls. A1l of ‘the boxes
Kay has are full. How many small and how‘many large size bpxes does

Kay have? ) ' '
5
’ / )
- . ) ? &
o ‘1&{ o 4
- - Answer: . . %
[-ad
g L L — e
. o .
Form MPSP-E/4B . .. 1re-27
o i . . . ‘




Name __ ~ . Date '
Grade _ S _ Teacher |
Directions: Circle the 1etter of the best answer.. Circle énly one
letter _ '
) LA
' /.
A T
7 kg 12kg |
é ' ' ' .
A , Three boxes on a scale welgh 42 kg. What three boxes are on the sca1e7
X A B ByandC o L L |
| B. DandD I "
R o ' . ' \.
C. A, C andD e
D A A andC e
E. B, C andD . |
' S -~
20 9(( 7] 57
. What goes on- the tags: -, x, +?
A. i . |
B, -.’ e
. C. x;‘é' i
! D. +, x
A'E. +, +
LN ]
, : . " s
. e ‘ ' % _ ‘36} S




3. AppTes cost 14¢ and bananas cost 15¢. Sam spent exactly $1.30 for
apples and bananas. - How many bananas did he buy? '

-~ A -2_ -
. ;
C. 4
D. 0
E. 3

<}

4.% Joe has 85-marbles and 7 friends. He wants to give away as mangii
- marbles as he can, byt he wants to be sure. each friend gets the™
same -number. How can: he do_this? A

A. . Give each friend IOgmarbies, then each would have the same
~ number, - L . ‘ _

B. Give 5 friends each 15 ma?blesrand'tﬁo fkfends each § harbles,’
. that would be 85 marbles. o S

Cye Give out ‘only 77 marbles, 7 will not go into 85 evenly.

' D.\ GiVe”eachvfkiend~12 marbles and keép.ohé himself. 7 x 12 s -
very close to 85. . L - - -

E. Give each-frienqﬁl4fmarb1es.

5. Cathy is_thinking of two- numbers. . Their ‘sum is 68 and: their differ-
' ence is 12, What numbers is she thinking of? s o

A. 35and 23 | -

B. 70 and 5.~ S ¢

'C. 40 and 28 R | N

' D. 34and 22
E. 44.and 24 T
| ' P/ ~
SN, 20 |
. Form MpPSP-E/5A - I 6-30




6. Tomdhas 10 coirs. Some are dim s and some are nickels. The value
of Tom's coins jis-85¢, -How many dimes does he have?

A. 8
B. 7
C. 5
D. 3
CE

7. Barbara has a board 7 metérS»long."She wants to cut the board -into.
~ two pieces so that one piece is twice the length of the other.
Where should she cut: the board? - ’

,,Ap. Betwegnv]:andiz ; o ;
Blj'Bétweén;B and 4
) C;' Between 4 an%ns
0. Righton3 - o R

* E. Right on 5

- 8. 20 pennies are put into § piles. Each pfie-has a different number
of pennies in it. How m2ny pennies a{e in the biggest pile?

A9 5 s \
.7 -
D 6 & .
E.. 5 .

< - 30

IIT C-31




- 9,

.
10.
1.

S.c. 10 m'eters' L '3ﬂ .

~B. 8meters -

D. 13 meters

Form MPSP-ESA

MAP

.- 150 S o
' ~400. Detroit

Minneapolis /‘."\ -

350

L. Indfanapolis

Willy

) .. Fargo,- S ee s em— - - . ‘ — ety e e

. / . .~ ‘
.' /J :;;Etsburgh.

was planning a trip fromrfakgo to Pittsburgh.
-not have the number of miles between Detroit and Pitt

—

is the closest estimate to the distance between Detro

A. 350 mi]es". )
B. 300 miles - | |
C. 100 miles o

D. 250 miles

E. Hot enough information given to tell

e o

i
e

sburgh.

The map did

Which

it and Pittsburgh?:

Tﬁe~na11'is 3.cm long. Estimate the léngtﬁ of .the pencil.-

i - R
A, 5cm ' o )

B. 8cm
.-glo.cm o | E L

c
D 15cm

£ 20 cm

_The ‘height of the pole is 1% meters. o
. Estimate the height of the top of the .

. building.

A._.5 meters:

E'.. ]5‘ meters | R ' ‘
. - Hre-32 -

«




AY

A\

12, Estimate the - length from youf e1bow to the tips of
T ydun'finger;, ‘ o _ :

‘1 A. 20 cm
B. ~30 cm
C. 50.cm
0. '§ﬁfcﬁj \
E. 100 en

Please write down on this pate all your work and as much as you can

about how you worked problem 13. ¢

_”13. Vera hasv12.coin§'Whose value is §1.40. She onty has quarters,

- dimes and nickels. How many of each does she haye?

- ‘
. i 4
_ 2
W
, !
‘.
' | : .’ %
\ "~ ‘44 )
A o Ansvier: - - S =T
- o ) v
» 5
¥
- (
7. S ‘
< «,’.
32 ’
P - 22 :
Form MPSP-£/s5p .
o o ITI C-33 _
. “&..
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b . " . - ) ’ . . - ’ ..' .
' - . . ) o ) . i Vf . B - S
.. . . . - : . . - . .
: ' . ‘ . P . '
. . . : . '. . - . . . "
.. . . \ - o . o
: - I

Name - ' T L Cate

Grade A : — 't.'.Teacher ; o s

Laea B L. —

Directions: Circle the letter of the best answer, Ciftle;dniy one’
ot ]e'tter._ . o ‘ C ; . T
, -

=

B ' B 0 R |
L N12kg 8 kel 20 kg

Thr;ee boxes on a.scale we:igh.39 kg. " What thfeé: bdxes.'.'a.r.é on the
scale? . - i . TR -

-

e

A A, A, A, and C
B D and D
C;Z’A,_B, and D

0.8, B, and A |
E. A,:B;:aﬁd ¢ )

2. 9 C:) 7 (:j)s -
» Nhat goes on the tags - x; +?
'A- -y X . ‘
-~B..+,'_l-‘. o ’- \ +
C. "':.’-_, .. ) _:. _ ’ ' - -

D‘ +,X \

| E- =93 +

33

111'¢-35




TR . \ If - ) ] / ‘ ‘ o Q ¥

ey )y s

o 3;-‘App1es'cdSt'14¢ and bananas c0§t515¢. Sqé spent exacflfksl.oo for
. . apples and bgnanasf‘ How many -bananas did he buy? . A :

! . . NG
‘"', 1 B 4 . P 7 : ] ) BRI -

A, 2 o - oo o o

v

¢

- (]
. -

. | |
;

m
o

. , %
4. Harry ohly haS‘quarters and dimes.

1S A e kids made guesses aboyt
how much money Harry‘cou]d have, Wh

guess does not belong?

A 206 \f%i'T‘ “ —
B 45 . ) figb' |

Sy c. 70¢' . i‘ | { “§,v ‘ |
. 92¢ L E ﬁ
E i

. $1.05, o
€ . | . ' v . | l : ) . " . ‘ A . ) ] . o

9. Cathy is thinking of two sum:is 76 and their di ffer-

: ence . is'14. ' What numbers 1s sh ki SR o

I A. 45 and 3
~B.. 90°and 62
C. 40 and 26
D.. 50 and 26
" * : S
E. 58 and 18 o ‘ - : L
6. Frank has 12 coins. Some are-dimes and some aréfhické]s. The ;_”ﬂtt
- value of Frank's. toins is 90¢. How many dimes does he have? '

B ‘A, 9
- B.
. C.

o

34

o & v o

CE.

[

- Form wpsp-g/sg . II1C-36 P q//

— ¢

Q




7. Willy has ;3 board B‘meters Toni,  Ha Wants‘to cut the board intg
‘ two pieces so that one piece is 3 meters longer than the other,
Where should he cyt the board? - -

: M . )
. . r—""\ : . ; , ‘ ‘
. . . . B L4 14 v T T T RA v o,

0o 1 34 5 5 7 g

r

5

. Bgtweeﬁfz and 3
. B.
C.

Right on 3.
. Betygen 4 and 5

'D. Right on 4
E

- Right on 5
8. 20 Pennies are put into 4 piles. Each pite has -3 different numbep. .
of pennies in jt. The smallest pile has 3 Pennies. How many
Pennies are in the biggest pile? . -

' A‘. . ]o . "L“ “ .

B. .9 o |
c. é i .'  | '., - :‘v ;;ﬁg
e 6 v

%

In'the‘space below dfaw_a‘diagram that

. 9. Do not work this problem. “
-tells the story of the problem,
John has. 2 candy BarQ."He traded eaqh'candy bar for 5 baseball
cards: He then traded each baseball card for 4 marbles. How ‘g8

“many marbles did John get by trading? _ L '

Form Mpsp_g/5p © I C-37




IQ; ‘ ‘;wx. /
. The -pencil is 12 cm 1ong.'7Estimate_the length of the nail.
‘ % — Z -
. A" 8cm - . g 3 i .
B. 6cm o o , . o
e Bem | | o ﬁ~,/ﬂ~4{)
D. 4 cm o . - o . o T
) ‘ N
Ee 1M em -
1. The street Tight is 10 meters ‘high, - - - g#ﬁ.
Estimate the height of the building., . .
A, 12m
B;' 17 m
"C. 15m
| 'D. 10m
E. 5m

12. Estimate the length of your arm.

. A 30 o

B. 50 cm
C. 90 cm
D. 120 cm
E

d ]5OCLn>/

Form MPSP-E/58 11 c-38 -

e
by




A

Please write down on this
how you worked problem 13,

13. Patricia
Red boxes
and green boxes hold

Page all your work and as much as you can about.

has 106 pencils aitogether 1n'd1fferent colored boxes.
hold 7 pencils each,

blue boxes hold 12 pencils each,

20 pencils each. Patricia has 10 fyli

boxes of pencils. Hoy many boxes of each color does she have?

s ' -

~[_Answer:,l

i

LA
.

e, -

-

o c-3§7 |



e e i

Name . L\‘f' Date

Grade A - Teacher

s et

Directions: Circle the letter of the best answer. Circle only one
. ' letter, . o '

Y YA » SN
. . ~—-- :’.“"' ! ‘ - = . L 5 -
\'-‘é‘l);_.",B'-g" C

kg kg b ie kgl

20 kg

' Th)np boxps un a sca]e WEIQh 52 kg What {hree hoxes are on the
»scale? “ . S : I

. A A, By B and B
L 'ﬂt‘\ B and ¢ |

LR G, and D ST
b.~;A;w?, and D C |

'ﬁ\ 7': EJ‘.C#{C;-and‘B ' _ '_. o o e
o

What are on the taqs 4,‘x3 +?

| A - +.,, +

'.j'EgQ’“' x
38

;_,'MPSP-E'/sA o . o
o - HIIC-41 .




3. Peahs.cost'12¢ and bananas cost 17¢, Sam spent exactly $1.45 for
.pears and bananas, How mghy-pears did he buy? '

A, 3

B. .5

C. 7 % - €
D. 8 o

E. 10 .

Howard is thinking of a number., _If he multiplies the number times
itself, he gets the Product of 75. Which number is Howard's number

' closest to? . ‘ .
A, 6 B ¢

8. 7

f.4

D. 9 )

E. 10

N

"Jqﬁbmberj0n twu bdskétbé]]jplayersf'jerseys when added'togéthér
30 and when multiplied equal 224. What numbers are they?

9 and 254
B.- 10 and 20
€. gand 28
- D. 15and 14
E. 16 and 14

- Form MPSP-E/6A SRR 3 o

a



.

Tom has 10 coins, Some are dim-; and some are nickels. The value

of Tom's coins is 85¢. How man, dimes does he haye?

o~

- A,

O o o

3

7 .

7. Betty Ras a board 8 meters lonq. She wants to cut the board into -

two pieces so that one piece is 3 meters longer than the other.
Where should she cut the board? v _ g

2]

'Qetweén.l.and;Z'f

Bétween's'and 6 .. |

kight on3 - 1&-. e } .
Right on 5 - | o
Bétweén'ﬁ-qnq 5.

oo
¥

-

8. 20 pennie. dare pul into 4 piles,. Lach pilé has d different‘number

.» .-J ' N A.

of pennies in‘it;‘_How'many pennies ‘are in the ‘biqgest pile?

5
. B.
ad .
\* c. 7
D.- & _
E. 9 -

- Form MPSP-E/6A . -

i@: : ‘40
_III'C-§3

/



< AP
Fargo -~ . ' &
150 | o .
400 betroit | 4
e———— e .8 : .
Minneapolis . ’
- . . . \\ ? P
350 .- \_. . ‘
Pittsburgh -
! 0 ° ,
; ~ ‘Indianapolis

Willy was planning a trin from Fargo to P{ttsburgh, The map did
‘not have the number of miies between Detroit and Pittsburgh. Which
is the closest estimate to the distance between Detroit and Pittsburgh?

AL 100 miles
B. 300 miles
C. 250 miles
D. 350 miles

. Lol enougn infqrmatidn given to tell.
l1u, c . . ‘ :

The nail is 3 cm long. Estimate the length of the pencil.

EJLm“~_~w._ . ka:;)

‘A, 5 ¢em
) -
B. 8 cm
C. 10 cm
D. 1Y aw )
L. 20 ¢cm .
;- ~-.u-j:',;,“7"4 ‘ ] Lt o L"',r.l'."z
"1V, The height of the pole ‘is 15 metors, o § A
- Estimate the height of the top of the :
building. - L} : ~——
CA.. 5 meters ! : |
- Y. B meters
C. 10 meters : “
| 41
D. 12 meters JJ
\

Form MPSP-E/6A

E. 15 meters
III C-44




12. Estimate the length from your slbow
. to the tips of your ringers,

. =y =
A. 20 cm I 1‘Q7 C:; )

l. L ,)
B. 30 cm o : i'%/
C. 50em — ‘ W,
. ---—-—-f//.‘:‘(
D. 9% cem = ) Z i L /

E. 100 cm : -

Please write down on this bajw all your work and as much as ydu can
atout how you worked problem 13, :

13. Vera has 12 cains whose value is 31.40. Sie only has quarters,
.dimes and nickels. How many of each dces shg*have?

E—

. Ansver:

42

Form MPSP.z/6A
L » I11-C-45 .




Name _ ' . Date

Grade . _ ) Teacher

Directions: Circle the 1etter of the best answer. Circle only one
‘ letter, , .

_— D.
o 20 kg

/ 12 kg

Thrie boxes oﬁ a scale weigh 38 kg. What three boxes are on the
scale? ‘ : ' -

. ] A, Candp ‘: | ." . - ,.,:
| B_.'BBB,ath |
C. AAandc o e
D. A, B, and c ) "
’ E A, C, and D

what are on the tags: = X, +7
A. 'X', + . - s
L) +’ X

B

C. x, -
D

E

'vFor'm MPSP-E /68 o III é—'% ‘




3. Pears cost 12¢ and bananas co-t 17¢.
~ Pears and bananas..
4 ' :

A. 2

C.

o
- Y

m
.

Y

4. Mr. Chitwood wants

to carry.
of*the.total.weight of the

blocks?
A. 16,000-pound§

B. .20;oqo.p6unds

C. :15{660:b00nds

D. IEQQOOHpounds',.

E.'_ﬁ0,000 pounds

- equal 25 and when mu]tip]ied'equa]_lZG.
A. 101 and 151 o

B. 21 and 6
| C. 18and7 )
D 17 and 8
CE l4and 9 |

14

~ Form MPSP-E/6B

The nuﬁbeﬁs'on two baskétball Players' .

) N

Sam'spent exactly $1.16 for
How many bananag did he buy?

to haul 212 stone blocks. to a building site.
% He wants to be sure the weight will not be
Each block weighs- 77 pounds,

too much for his truck
Which'is a good estimate

A}
s

N
A

jerseys when added together

What numbers are they?

111 C-48



6. Frank has 12 coihs, Some are d1mes and some'ére nickels. The value
of Frank's coins .is 90(._ How many dimes does he have?

. 'gv-

A
. ~ A
B. 8
C. 7
D. 6
E. 5

7. Betty has a board.q?meters 1oﬁg. She wan%s to cut the board into

- two pieces so that one-piece is twice the length of the other.
Where should she cut- the board? . : '

: ) PR - :

A. Between 3 and 4 -
B. Right on 3
c.’ Between 4 and 5 , ) B

D. _Right.on 2
E

Between 1 and 2 «~

8. 20 pennies are Put inio 4 piles. Each pile has a diffeﬁgnt number
of pennies in it.. The smallest pile has 3 pennies. How" many '
pennies are in the biggest pile? . ,

A. 6
.7
C. 8
D. 9
E. 10
15




) . - . } : -

s

tells the'stqry of the probler.

A ~ John has 2 candy bars. He tradedfeaCh'cand} bar for 5 basebal

cards. He then traded each baseball card for 4 ‘marbles. How
many marbles did John get by trading? - ol .

. . ¢

o
i
. '
-
L
[ '
. i “
e & » .
. - '
d - . ¢ !
3 .
) . .
. ! 4

0.

The pencil is 12 cm, long. Es%img§§4the length of the nai?ﬁf";

.'~b o

9, Do‘not work this proeblem. In the Space below draw a diagram'ihat}‘;:ll,:'

|

0= . e A
A. 8 cm ' !
B. 6 cm ,-:;
C. 15¢cm ’ .
D. 4 cm _ S :
E. 11 em EER )
11. The street light is 10 meters high. )
Estimate the_hieght of the bui]ding} o .p;
A. 12m : R
’ B. 17m s o o |
¢ 15m ¥ ._ :
D. IO.mmn = ) 3
Esm P
46 ,

N Treso o .
Form MPSP—E/_GB. mc I T




12. Estimate the length of your arm.

A;_'30 cm
B. 50 cm
C. '90‘cm
D. _120 cm
E. 150 em

Please write down on this pade all your wdrk and as much as you can
-about how you worked prob]em 13. o

13. Patricia has 106 pencils altogether in different colored boxes.
Red boxes hold 7 pencils each, blue boxes hold 12 pencils each,
and gr boxes hold 20 penciis each. Patricia has 10 fyll
boxes of;pencils. How many boxes of each color does she have?

Answer:

Form MPSP-E/ 68 TIT C-51




. ' ' " Appendix € |
| 5. Module Quizzes, Trial H, 1975-76

g FomMC

. Name B ' : J; ' Date

¥

~Grade "?*" o :'Teachér

' 4
Directions: Circle the letter of the best answer. Clrcle only ong &
‘ letter. _ Q

1. Three boxes on a scale. weigh 40 kg. what three boxes are on the”sca1e?

i

sighne CEE

>
(=)
o
o
M&w 7,

Tkg L | 12kg 16 kg 20 kg

LRI N

A.- B, B, and.C - | o r

B. D and D S :
A, C, and D i

A, A, and C

m o (]

% E B,C,andD . ' ‘ B .

'fz-'.9f::)7tf:f§ssl11 B ; S

Whét goeS on the tags: -5 X, +?

A =y x :
- {

+, + Dy

: T

+, - .

m O o om
+
-
x
*

MPSP-E/C : | | L iy
e I C-53 ¢ S




o A ST , :
, + 3. Apples cost 14¢ and bananas cost 15¢. Sam spent exactly $1.30 for
' apples anq pdnanas. How many bananas did he buy?

A.. 0

B. 2 G-

C.: 3 . .
g .

D. 4 '

E.- 5

4, Joe has 85 marbles and 7 fr1ends He wants to give away as many
- marbles as he can, but he wants to be sure each friend gets the
same number. How many marbles should each friend get? -

AL 100 | | R D
c. 12 - | |

D. 13 _ N

E. |

.14
A_'), i

5. ‘Jane is thinking of two numbers. Their sum is 30 and thexr differ-
©.ence is 6. What numbers is she th1nk1ng of?

A. 36 and 24
B. 20 and 10°
C. h12 and 6
D. 22 and 8

E. 18and12 £

MPSP-E/C

T11 c-54




'

6. Tom‘hés,lo coins. %Somé are dimes and some are nickels. The value
of Tom's coins is 85¢. How many dimes does he have? -

..A,.a" RO i
B. 7
C. 5
D. 3
E. 1

7. 'Barbara has a board 7 meters Tong. She wants to cut the board into
two pieces so that one piece is twice the length of the other.
Where should she“cut the board? ' : S

Right on 1
."Bétween 1 and 2

. Right on 2

Between 2 and 3 ¢

m O O @ »

Right on 3 =~ . R N

8. Ten pennies are put into 3 piles. Each pﬁ]e'haS'a different. number
- of pennies. :The smallest pile has .2 pennies in it. How many are
in “the biggest pile? ‘ , .

o - | | Y
“A. 4 ‘ . o _ ) _ . . e
. o - | | |
C. '6 _i
D. 7 - ;
E. 8 ’

MPSP-E/C.

111 c-55




=
N
N

- N ) .
The naif\is 3 cm long.

I - =

. 5cm ' SRR

L
A
.a_'é. 7 cm
Cot0an
; RENE

. 13 em o

N

E. 15 cm

10. The height of the pole is 15 meters. , ' .
: Estimate the height of "thbngies f the .- - "
- .building. ‘ S oy

.5 meters N

ce,

. " 7. meters - o v . ' ‘

.. 10'meters

~ | ‘ . L
13 meters 4 - | Co

.
E

. “15 meters .

11. Estimate the length frdm your elbow to your finger tips.
| :,A. 20 cm . |
- B.. 40 cm

o

60 cm B . -::_ﬁ“ :]3[m';?
.- 80 cm -

)

o, . E. 100 cm-

| Y

owespgc 5

111 C-56




12 | 3 Y

~ Fargo | -

150 |
400" - ‘Detroit

~ Minneapolis

- Pittsburgh

" Indianapolis

' Willy was planning'a trip from Fargo tp'Pittsburgh.v The map did

“not have the number of miles between Detroit and -Pittsburgh. Which
is the closest estimate to the distance between Detroit and Pittsburgh?
A. 100 miles -
B, 250 miles

C. 300 miles

D. 350 miles
E. 400 miles

MPSP-E{C; - 59

IIT C-57



A  NAME . _ TEACHER
FOR PROBLEM 13, PLEASE SHOW YOUR ‘WORK AND TELL AS MUCH AS YOU CAN
' ABOUT HOW YOU NORKED IT

13 In her p1ggy bank Vera has 20 coins whose va]ue is $1.40. She only
has d1mes and nickels. How many of each does she have? -

MPSP-E/C - B3
’ | ~111°C-58

.




i
" FORM 4
Name . “ e " Date
Grade S ] ‘Teacher

Difections Qircle the 1etter -of. the best answer.

s letter

- Circle only one

1.. Three boxes on a scale weigh 16 kg whatfthree boxes‘are on thé;

scale?’

C, qnd'D‘;

m O o © »
@ P > o w
- L

. B, and D

2. 503347 -
What goés on!the tégsf"-,-x; +7
A7 x, x
A‘*_

B
3b.~ Xy =
) |
E

" MPSP-E/4

» C, and D o
B, and ¢ -t
’ A’ A, and D I . . " | ‘. .

I c-59

D .
7 kg
K.Y
9
Ny



%

3. Harry only has quarters and din~s. Some kids made guesses about
" "how much money Harry could have. -Which guess does not belong?

A. Lisa guessed 55¢

7y

B+——Laura-guessed-35¢-— o B
C. Leo‘guessed 75¢
~D.. Carrie guésged 45¢
| E. -Sam gueSSed 15¢ .

4. Pears_cost.15¢ and oranges cost 20¢. Sam spent exéct]y 65¢ for
~pears and oranges. How,many pears did he buy?

A. -4
B. -3
- C.-2
D. 1
B E. 0O .

. 5. Sara is thinking of two numbers. 'Their‘sum is hd and their differ-

ence is 8. What numbers is she thinking of?

A 24 and-16 | |
B. 48 and 32 | .
C. 30 and 10 | -
. °
'D. -16 and 8.

% E.- 20 and 12

" o C
MPSP-E/4 B 19

IIT C-60



6. Tom has 5 .coins. Some are dimes and some are nickels. The value °
of -Tom's coins is 35¢. How many dimes does he have? :

A. 0

m ©O o o
N

o EN

3 - E v
X

4 . .
FEE

7. Joan has a board- 5 meters long. She wants to cut the board into
. two pieces so that one piece is twice the length of the other, .
* Where should she cut the board? : T

. . Between 0 and 1

| A . . . i
IB..HRith onl v o R o . il ”‘ql
L.+ Between 1 and 2 - ;4' _ . : A

Py

D.. Right an 2
E. Between ? éqd.3 .

8. Ten pehnies.are put into 4-piles. Each pile has'a different num- 

‘ber of pennies in it.’ How many pennies are in the biggest pile? "

A3
.

c.
E

iR

111 C-61
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amnea— -

- The peﬁci] is 12 cm long. EStimaté'the'length of the nail.

A. 2 cm
B. 4 cm o - | P g

6;cr_n oy

O (e}

8 ch

E. 11 cm

. . l).:.;.__w‘__._______‘_A._,_._, T,

10. The twilding is 10 meters high.
Estimate the height of the street

A;‘ 10_metersr

B.
C. 5 metefs;A
D.

. 7 meters '7_ | S N/
RN »"' i " Al

N 3 meters o T L e J'
E. 1 deter . S ya

11. 'Estimate the-length-of'your>arm.
A. 207cm L '
30 cm

50 cm

s

OO @

. 90 cm

'\\g, 120°em -

' ‘MF_‘SP‘-E_/4" S B -:',‘.’-57_-"."'

Lo urce ,

7.




Name - ) . Teacher.
| “In the.space below draw a diagram that would tell the story of the
‘problem. Do not work the problem--just draw the diagram. '
12. . - wf John has 3 candy bars. He traded each cah&y bar for 4 marbles.
: y_ How many- marb]l es_did_John_get by -trading?. - :
,i ‘;’
-~ FOR ‘_P'ROVBL'EM 13, PLEASE SHOW YOUR WORK AND TELL AS MUCH AS YOU CAN
4 ABOUT HOW YOU WORKED IT. : : : .
13 Ka;y“fhas_'QO'gélﬁ balls in boxes. The large size box holds 10.golf
- balls. The small size box holds 7 golf balls. AI1 of the boxes
are full. How many small and ‘How_ many large size boxes does '
Kay have?, > .
4.-\ . ) . _‘ .
e R ' Qr
L -,; \
he . . ¢ R b
o Ansv}ér
y
% - MPSP-g/4 - S ".;'1”1_1'(;-53'58 '
ERIC




CRMs B

Name ' _ Date .

Grade. | : ) Teacher

Direciions:-—Cirele_the"}etter“offyﬁé“b§§f”éﬁ§Wér; Circle only one

o ’ letter. ¥ . ' . -

1. Three boxes on a sca]ffweigw 39 kg. What thfee béxes are on the
~ scale? - S L o -

. A B T : '
7 kg 12 kg 18 kg | 20 kg

%

A. AsA, A, and C:

“»B. Dand D |
C.- A, B, and D
D. B, B, and A’
E. "A_,- B, land C .

2 931 8Ps =7

What goes on the tags:

A, -, -
B. -, % -
t-,' X, -
D. ¥; X
E. o+, +

.




3. App]es Cost 14¢ and bananas cpcL 15¢ '*Sam spent exactly $1.00 for
app]es and . bananas. How many ananas d1d he buy?

, A2 B .
BOF ST T
Gy, bl S '
LoDy 5 co
X. » .
\ i’E,’ 6 i , 'l. : h Al
” ‘ Harry hoS on]y quarters and dimes. Some kids made guesses about
IR how,much money H&rry could have. - What guess does not belong?
. LVt e . ,
o e s Jaﬁ' e .
(0 “*757-_':' :
RV f-%a;f”:‘c.,‘iO', y 545; R

92¢ ),

“ .7: { 3’ SR ;
\ 31 os,% o _

> ~ S ‘8

’ N ) N LT 4 e toE b kg \
T ST L
I " . 3 .

T L, _ 5. i Cathy 1s th1nk1ng oﬁ’two numbers. 'Their sum is 68 arid their differ-
P IS ence 15'12* what numbers: is she thinking of? : -

\

'“,;; ) 3% and 23 PR
B.: 80 and 56, R .
c. a0 and 28 J“'_g,' PR o

D, ! 34 and 22 o

.-l":'

x l(S()' ) ko

111 C-66



4
-

. Frank-has 12 coins. Some are /imes and some are nickels. The
va]ue.of;Frank's coins is 90¢.. How many dimes does he have?

.A.. 5——\ | ,

- %
B8 ( — N
.
c. 7
D. 6

Willy has-a board 8 meters Tong. He wants to cut the board into -

two pieces so that one piece is 3 meters longer than the other.
Where should be cut the board? °

. 0 1. 2 .3 4 5 6§ 7 g
A. Right on 2 o R
B. IBetwéeh 2 and.3 | m"i |
¢! Right on 3 A o C ‘_ J
~.'D. Between 4 and 5 | N ' |
E.. R{th-on_4 . o Y

i

.~'19.penhies;afe_put'jnto 4 piles. -Each pile has a different number

of pennies in it. The smallest pile has 3 pennies. How many
_pennies are in the biggest pile? o .

AT

mo, o o

B. .8 )
9
L1 T |
| .. )

"\



9. [

The pencil is 12 cm long.

=

=

(J :

A. 4 cm
B, 6 cm -
C. 8cm :
b.‘ 10 cm'i ‘
12 cm

10. The street light is

10 meters high.

Estimate the height of the building.

A.

%

B.

e

DL

E.

12 meférs'
15 meters

17 meters,

19 meters

20_meters

'11. Estimate the Tehgth of your arm, .

A.
- B.
C.

30 cm
50 cm

90 cm
. 120 cm

150 cm.

MPSP-E/5. .

62

111 C-68
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. N -‘.u s;
Estimate the length of_Ehewgéj]é

e -

Aoy




Name. : Teacher

»

Iﬁ the space below draw a dia ram that would te]i the story of the
problem. Do not work the problem--just draw the diagram. .

12. John ha x‘candymbatsjw;ﬂe_traded-eachucandymbar»for*5~basebaTT““*“““‘“““L“
‘ . -cards. ™M@ then traded each baseball card for 4 marbles. How ‘
many marbles did John get by trading? :

N

FOR PROBLEM 13, PLEASE' SHOW. YOUR WORK AND TELL AS MUCH AS YOU CAN
ABOUT HOW YOU WORKED IT. - ' R |

13. Patricia hés-90 pencils in boxes. Tae large sfze box ho]dé 12 pencils.
The small size box holds 7 pencils. A1l of the boxes are full.
~ How many small .and how many large size boxes does Patricia have?

1
| -Answer
P
i R . | :

o - ' , A : .

o ‘ : : B : S

. MPSP-E/5 e
S y -;r111<é§é3 . |




FOF"1 6
Name . - * Date
Grade | ‘ 'TeaCher - O

Directions: Circle the letter of the best answer. Circle only one-

letter.
1. Three boxes on a scale weigh 38 kg. What three“boxes‘are on thé

scale.

_ ’

A . A B Y

10 kg o} 12k 20 kg
A. Cand D
B. BHB,B,aﬁgB‘
C. AA, and C-
D. A, B, and ¢
E. A, C, and D
2. ',7c35'§34_=31f‘, ‘ s
. What are on the tags: - X, #2 o .
'y '4;v+'v. | .
Be x, -

Coo4,x
D  x, +
E. x, x

64
‘MPSP-E/G {

I C-71




5 ) o S
?v ' ' 3. Pears cost 12¢ and bananas cout 17¢. Sam spent exactly $1.45 for
pears and. bananas. How'many peags did he buy?

A3 o o
) | ‘B, 5 | ‘ Q | o
- T 4 )
0. 8
e

. '4, Howard is thinking of a'number. If he multiplies the number times
' itself, he gets the product of 77. Which of these numbers is Howard's
number closest to? - ' ‘ o

s

A 6
87
c. 8
0. 9
. 100

5. The number on two basketball p]ayéfs‘ jerseys whéh added‘togéther
equal 30 and when multiplied equal 224. . What numbers are they?

A. 19 and 254

B. 10 and 20 |

C. 8'andl285 B vvl
D. 15 and 14

E. 16 ]

16 and 14

- MPSP-E/6 |
R I11 C-72




6. Frank has 12;coins. Some’ are dimes and some are nickels. The value
8 of Frank's coins 1§ 90¢. How wany dimes does he have?
L A g ‘ N .
. \' . . . e e e e e
) B, 8
o7
D. 6
E. 5.
7. Betty has a board 8 meters long. She wants to cut the board intq
two pieces so that one piece is 3 meters onger than the other.
Where should she cut:the board? : ' :
. | ] | 1 ] !
0 1 23 4 5 6 7 8
highit on 5 . .
f’f:etween 5 and &
‘C. Right Qn“6 N
'D. " Between 6 ahd.7
E. Right on 7
8. 19 pennies#are put into 4 piles. Each pi]eﬁhas a different number
. of pennies in it, The smallest pile has 3 pennies. How many
. pennies are in the biggest pile? L -
A7
| B. 8§
Coae -
0. 10
E. 11 IR B
.-;:.’;. ) ‘_. . . : B | . .
Do PR e -6¢
. ;.MPSPfE/6 - » S _
! 4

LRe ey o0 I C-73




9. . : : ' L
[ liEe—= - - S
The pencil is 12 cm. Tong. E§fﬁmate the Tength of the nail.
> e
A. 4 cm | 1 o >
B. 6cm | i N '
" C. 8 cm.
D, 10 cm
E. 12 cm |
- o . ¥ ,
- 10.. The street light is 10 meters high. e : a
' -Estimate the height of the building. : -
© A. 12 meters . L
15 meters : . v c::§:=ﬂ '

B. . P . '
€. 17 mefgrsb ' - o . ////
D, o . |

19 meters

1§_E. 20 meters - o oL o ////j ~; E

11. Estimate the length of your arm..l

A. _30 cm-
B. 50 cm - E )
_E. 90 cm '
D. 120 cm
E 150 cm _ .
. <
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Name

. Teacher
)

A\

In the space below draw a dia ;ram that would tell’ th

draw a di e story of the
problem. Do not work the problem--just draw the dia

gram.

12, John_has_fncandy‘banST“‘Hé“t?éaéd“each candy bar for 5 baseball

4 cards. He then traded each baseball card for 4 marbles. How
\‘wmany marbles did John get by trading? '

-~

o ~ FOR PROBLEM 13, PLEASE SHOW Y

OUR- WORK AND TELL AS MUCH AS YOU CAN
ABOUT HOW-YOU WORKED IT. . . - ‘

13. Vera has 12 coins whose value is $1.40. She oh]y has quarters,
dimes and nickels.. How many of each does 'she have? .

~; -'-# RN

Answer:. o _ : _




